Exam.Code:0310
Sub. Code: 2684
2071
_ M.A. (Economics) Fourth Semester
MAECO-403 & 404 [Opt. (vi)]: Mathematical Economics - II
‘ (In all mediums)

Time allowed: 3 Hours . Max. Marks: 80

NOTE: Attempt five questions in all, including Question No. I which is compulsory
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IX.

and selecting one question from each Unit.

X-X-X

Attempt any ten of the following:-

a) What is consumer’s surplus?

b) What is linear expenditure function?

¢) What is elasticity of substitution?

d) What is Homogeneous production function?

€) What do you mean by uniqueness of equilibrium?
f) What is welfare economics? '

g) What is compensation principle?

h) What is investment multiplier?

i) What do you mean by Growth Accounting?

j) What is Balance Budget Multiplier?

k) What is reverse factors intensity?

1) What do you mean by Endogenous Growth Model?
m) Differentiate between fiscal and monetary policies.
n) What do you mean by choice under risk?

o) Define social welfare function. (10x2)

UNIT -1

Write notes on:-
a) Von Neumann utility function
b) Inter-temporal utility maximization (8,7)

Explain the features of VES production function? How it is different from CES

production function? (15)
UNIT - 11

a) Discuss Cobweb Model with the help of an example.

b) Give mathematical explanation of Paretian concept of social welfare. 8,7

Discuss Walras’s law along with the existence, uniqueness and stability properties
of general equilibrium.

UNIT - III

Give a mathematical representation for effectiveness issues under different
regimes of IS-LM-BP Models. : (15)

a) Give mathematical formulation of Keynesian models.
b) Give a note on inter-temporal utility function and consumption decisions. (7,8)

UNIT -1V

Critically examine the following:-

. a) Neo classical growth models

b) Golden rule of capital accumulation ' (8,7)

What are two sector models of endogenous growth? Discuss the Uzawa-Lucas
Model. (15)
' X-X-X
(Hindi and Punjabi versions enclosed)
P.T.O.
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